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, + INSTRUCTIONS : ,
Paper — 1 (Aptitude Test) consists of five sections i.e. English, Punjabi, Teaching,
Gener4l Knowledge/Current Affairs and Mental Aptitude.
All questions in the Test are multiple choice questions.
Each question catries one mark, with four alternatives out of which one answer is |
correct. '

There will be no negative marking. o o
Use only BLUE/BLACK Ball Pgint Pen to darken the appropriate oval. ,
Mark your response only at the gppropriate space against the number corresponding to -
the question while answering on thggOMR Response Sheet. : s
Marking more than one response shall be treated as wrong response.

Mark your response by completely darkening the relevant oval. The Mark should be
dark and the oval should be completely filled. :

Use of calculator, Mobile is stgictly prohibited and use of these shall lead to
disqualification. .

The candidate MUST remove the last Carbon copy (Candidate’s copy) of OMR after |
completion of Test.

The question paper will be both mJMsh & Punjabi. In case of any doubt, English
version will be taken as final. ' .



_ _ ENGLISH
Fill in the blanks with appropriate verbs (Q. 1-4) :

1. - The bridge up by the terrorists only last week.
(a) blowed (b) was blowed
{(c) was blown (d) was blewed
2. We observed that the thief .
(a) chased (b) was being chased
{c) was chasing (d) had been chasing
3. Never that he would treat me shabbily.
(a) did I dream (b) 1dreamed
(c) had I dreamed (d) have I dreamed
- 4. Please see that the patient . '
(a) does not disturb (b) is not disturbed
(c) was not disturbed (d) has not been disturbed
Complete the sentences by choosing from the alternatives given below each sentence (Q. 5-8) :
5. A politician’s speech must be read the lines; it may have a double
(a) behind; edge (b) between; meaning
{c) - among; ends : (d) beyond; face
6.  There is no glory in war the blood it
(a) considering; sheds (b) comparing; spills
(c) worth; costs - (d) thinking; demands
7. Helives in the world of :
(a) delusions (b) conclusions
(c) allusions - (d) illusions
8. In one election after another, officers haxfe been guilty of serious of duty.
‘(a) lapses (b) carelessness =
(c) dereliction (d) abandoning

Choose the correct meaning of the underlined idiomatic phrase (Q. 9-11) :
9.  The boy turned a deaf ear to the pleadings of all his well-wishers.

(a) listened carefully - (b) was deadly opposed

() posed indifference (d) did not pay any attention
10. At a party, he is always in high spirits.

(a) talkative (b) cheerful

(c) drunk (d) uncontrollable
11, There is no love lost between the two neighbours. |

(a) aclose friendship (b) intense dislike

(c) alove-hate relationship (d) cool indifference
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Choose the word which is nearest in meaning to the underlined words given below (Q. 12-16) :

12. Percolate
(a) closing
(c) perilour

13. Diabolical
(a) fiendish
- (¢) burlesque

14. Intrepid
(a) brave
(c) favourite

15. Sporadic
(a) regular

(¢} expensive

16. Loath
(a) Thate
(c¢) reluctant

()
(d)

(b
(d)

(b)
@

(b)
(d)

(b

d

seep
deem

contemptible
approving

supportive
trembling

congealed

‘intermittent

dislike
willing

Choose the word which is opposite in meaning to the underlined words given below (Q. 17-21):

17. Maverick
(a) abnormal
(c) pluralist

18. Repellent
(a) demanding
(¢) disgraceful

19. Fidelity
(a) allegiance

(c) disloyalty

20. Hazardous

(a) safe

- (¢) dicey
21. Surface

(a) dive

{(c) outpour
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®)
@

(b)
(d

(b)
Y

(b)
CY

®)

@

individualist
conformist

inviting
entailing

accuracy
strictness

perilous
dodgy

rise
emerge



Choose the sentence which is correct (Q. 22-24) :
22. (a) A series of incidents have taken place.
(b) Itis afive-men committee.
(¢) From which train did you come ?
(d) This pronuncnatlon is peculiar to Bengalls

23. (a) Heis wiser than brave.
(b) February has less days than January.
{c) Hetakes no less than two litres of milk everyday.
(d) It is the most unique piece.

24. (a) I'was asked to stop writing. . (b) She denied to go with me.
{c) My hairs stood on end. (d) I am reading this novel for four days.

Choose the wrong sentence from the choices given for each question (Q. 25 & 26) :
25. (a) Copy it word by word.
- (b) She is out of doors. _
(c) She prides herself on her wealth and beauty.
(d) The dirty old man was repugnant to me.

26. (a) The dacoits robbed my belongings.
(b) The first two pages of this book are torn.
(¢) He came to us every third day.
(d) He atoned for his sins by giving alms to the poor.

Fill in the blank with appropriate preposition (Q. 27-30) :

27. He was in a hurry and Just glanced the letter.
(a) over . (b) at
(c) through (d) wupon

28. The superstitious persons believe in many rituals toward ~ evils.
(@) against (b) off
() of (d) out

- 29. There is no limit the wants of man.

(a8 to (b) for
{c) in {(d) of

30. Cold climate is conducive wo_rking conditions of man.
(a) for : (b) on
(¢) upon @ to
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PUNJABI
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62.

65.

TEACHING

Which of the following is not the objective of the Programmed Instruction ?

‘(a) To complete the syllabus as early as possible

(b) To help the students to learn by doing

(c) To help the students to learn at his own pace

(d) To help the students to study by himself

Jot fufani fo5° frozr Ovsmy fsoemt or @8R adt 3 ¢

(a) uBaH fifgt FEel AgT I AR YT ST

) fefonradinr § SH 296 & fifes e RorfesT I5&t
© ﬁ@mﬂa@nﬁm@aﬁﬁ 3 fiuz g FaresT Jaat
(d) fe@mmélwa@aﬁmwugaﬁgmrfe?aaﬁ

The review that involves both the teacher and the pupil is called

(a) . The daily lesson review ' (b) Topical review

(¢) Unit plan review (d) Co-operative review

fxdhiz fm 29 miftm n fefowaet 82° mriks 3R 05, 0@ I
(@) o uS fedtuE o) wFEsx fer Addt fadtuz

(c) fearet trer fadhuz @) nfgerst fadhaz

The concept that developed from the ﬁrst experiences with things or event from the
environment is termed as

(a) Formal Operational concept (b) Concrete Operational concept
(c) Pre-ogeratlonal concept (d) None of the above

ﬁvmﬁ#mmuﬁ@mﬁgﬁaﬁzaﬁma foar

T -

(a) fesgrga midlt 9 (b) SF MMt TeET

(c) YI=-nH® OE& (@ Budas gt adt
The question that leads to expected answer is known as '

(a) Narrow question (b) Broad question

(¢) Closed questlon ' (d) Convergent question
yrs fam & Ages €39 o J, oo 9 :

(@ Fafes yms ' ® fors yas

(c) TEYHS (@) ot yEs

The process of Imagination is best supported by
(a) Sharing stories, explanation and descriptions

(b) Opening access to distant practices through excursions, v131tmg, talking and observmg
(¢) Empathizing

(d) Documenting historical developments

ST S Y e ol AHOEG St e J

(a) & At ags, fenrfinr »2 fEEsTs 396

) ﬁawmr&%ﬁsmm%mwmaﬁm@nmﬁmm
(¢ T dqIs
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66.

67.

68.

Which of the following is not the characteristic of High order thinking skills?
(a) It encourages students to integrate school knowledge and the knowledge they acquire
outside school.

(b) It empowers the students with skills that help them to evaluate and negotlate complex
~ situation,

(c) It helps the students in rote-playmg.

(d) 1t develops students’ creativity to take hold of opportunities presented by the
increasingly varied local and global economic contexts.

Jot fefantt 139 oot Qo v Ao fndaeret &t feRmsr &t D ¢
(a) %ﬁﬁ»ﬁ@ﬂﬁﬁﬁ%@%hﬂﬁ%m?mma@m
am{hgaa?;&étﬁswhaaaﬁ%t
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) %aﬁ@awn@ﬁne—ﬁwuanﬂmm?ﬂné%aém%m,
95 Bet fefonraet 2 goa3HasT o feam ot I |

Contextualization means

(a) To make education relevant to local contexts
(b) Focus on educational reforms.

(c) Experiences of the students.

(d) Reading contexts of every topic

yAdtags evm@e g _ _

(a) fHftmr § AEax YHaT @ nigas e

(b) fHfm gog °3 ey a9ar

(c) fefonmaet 2 nigs<

(d) I feR T Auast § uger

To help the student to deal with the oomplexlty and ambiguity of the content and context of
knowledge, teacher should _

(a) Manage the classroom property. ‘

(b) Allow students to disagree with each other while facilitating reﬂectlon on why they
disagree.

(c) Introduce group discussion in the classroom.

(d) Provide notes of the each topic in a simple language.

ﬁwaéﬁmmmﬁm%wén&wm@mmmaﬁ&fég%@nﬁérﬁ
AITfEsT 995 Bet, nifthmug § grdter 3
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(b) @UW@G%@M@%WW&HW%@WWE%&%
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69. .

Kelly & Kelly demonstrated that a continued and continuing learning in terms. of Pedagogy
includes . B -

(i) Curriculum & Subject knowledge

(i) Whole school issues _

" (iii) Barriers to children’s learning and how they might be overcome

(iv) Cultural knowledge

(@) (i) & (i) ®) (i) & (iii)

© @O&Gv) ' (d) Alltheabove
%&w%mm%ﬁmw,ém%%mwm
nifos &9 s Jer 3

(i) usaH 2 femr famis (i) FE® & A HY
(iii) Hfomt ¥ fiug {39 ga=et (iv) Afgnmaaa famrs
w3 §o5 3 far 83fonr W AaEr 3 '

@ OG- (b)) ™3 (i)
() @3 ) - @ EWasAd

70‘

71.

72.

To transmit relevant, identifiable and dynamic knowledge in the classroom, which of the
following method is most suitable ? ' s '
(a) Discussion method (b) Project method

(c) Story telling method (d) Question-answer method

g Tuwdel d 7 :

(a) feurg-ecieT fedt (b) Yree feut

(c) o g8z &t fedt (d) yms-833 feut
Ability to retain means .

(a) Understanding (b) Knowing

(¢) Explaining (d) Narrating

e o= T G € gl J _ |

(a) FH3 (b) FSEB

(c) fenrfemym I5&" (d) <TES AT

Teacher’s assessment of student knowledge needs to
(a) be objective
(b) be based on psychology of the students
(¢) move from evaluation of simple tasks to more complex level
(d) in written form at every stage.
forss 2w 2 HE'EE §
(a) TABYSN I FdeT I
() fefonradt @ HafiomT 3 norfes 3T gdter 3
(c) A9 7 @ HetaE 3 Afee UiT 9% 78 g 9
d g9 0ug 3 et gu s dr odter @ '
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73.

74.

75.

76.

The content of student work must be judged on whether students

(a) are writing the sentence properly '

(b) have good handwriting

(c) are developing their skills of reasoning, analysis and synthesis
(d) have good command on the grammar

M%mﬁmm?mmwm%ﬂwm
(@) TIYF T I T

(b)) ferStdRy

() NI 353, ﬁe’ﬂ%ﬂen@mﬁﬁumwﬁwaaaﬁaﬁ
(@ forrsaE@dRuazd

“What is a three sided ﬁéure?” is the example of

(a) Explanatory question (b) Reasoning question
(¢) Recapitulatory question (d) Developing question
“fea fSa-gdtmrfgHt st d” S Geggsd

(a) fToniftmmna yrs () 3T yEe

(c) Siaforrara yms (d) feaArs yms
Lesson plan helps in

(a) the removal of difficulties hkely to arise during teaching

(b) removal of personal problems of the students while teaching
(c) the achievement of good scores

(d) the completion of homework

'S Grat ATTEST J9et o

(a) us@aéamﬁwazwﬁmmmawaw@eﬁa
) ua@e@wﬁ@waﬁwe’twﬁﬁﬁmﬁmaaa@zﬁa
() TN Yyus I35 &g

(d) w3 T EH YT 95 &9

Which method will be most suitable to teach a large number of students ?

(a) Role playing (b) Debate method

(¢) Discussion method (d) Lecture method

frinfrer foest fefenmadintt 8 u=@z w8t fiaodt fedt Aw 3 <0 Yot 534t
(@) gfHar nifgd fedt (b) 3I-fezaxa fedt

(c) feurg =efed fegt d) Sg9 ferit
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1.

78.

79.

Choose the incorrect :

Essay type test helps to

(a) Induce good study habits in the pupils

(b) Encourage guess work to large extent

(c) Develop the power of originality of thought
(d) ~Organize ideas effectively

I3 & ¥ a9

fofu quft 2re Aofegraae s

(a) fefenragnit f¥g ugmet & ot wres Uer 96 &=t
(b) riEHa3 IH § 3B Uus I G3Rfos F9% St
() Feorg & ifvem & mast v feam a9 &
(@) fegrst § yswenwdt a1 &% Hafes &35 oEt

- Which teaching model brought the student into the scientific process and help to collect

and analysis the data, check out hypotheses and theories ?

. (a) Concept attainment model (b) Picture word inductive model

(¢) Mnemonics . (d) Scientific Inquiry -
ﬁnﬁﬁmm%ﬁ@a@aﬁmmﬁamﬁm@mﬁmsfaﬁ%
mﬁnﬁn&mmﬁmﬁﬁmﬁamﬁﬁ?

(a) Fad yust HSS (b) SAEII-HET MPAHSTSH H'SS

(c) fonfsam @ fefomreg w9

Reciprocal teaching was designed specifically to teach

(a) Communication skiils (b) Listening and reading oomprehensnon
(c) Writing skills . (d) Skill of Explanation

o3ve nifemus @ oo feRm gu few & finaoet ot ot et

(@) ¥od falaawet Ob) FuSIFE § oz v uFE

(c) fouz & fedssr () feforfemr 95 & fodas

Who invented the term Zone of Proximal Development to capture the problem of

~ understanding the students’ level of development ?

(a) Jean Piaget (b) Edward Lee Ted Thomdike

(c) Lev Semyonovich Vygotsky ~ (d) Erick Erickson
%mw%ﬁam%maamﬁmmammaam aannaqﬁﬁlm
Sz’ & b fard st A 7

(a) s e "(b) Weeds # 25 GaeE

(¢) &< AfBafea fearararet @ nfex Nears
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81.

82.

83.

85.

86.

Which of the following is the last level of cognition according to Bloom’s Taiconomy ?

(a) Evaluation {b) Analysis
(c) Comprehension (d) Application .

TGH STRBHT nighTg Ja fefanit 39 forozr rfom fomrs & Fg 3 a0 Jug
(a) WBFE b) fem@ms

() TS @ fegw

Which of the following research gives immediate solution to the immediate problem ?
(a) Fundamental research (b) Applied research

(c) Descriptive research (d) Action research

Jat fefantt 199 faast 87 szadt mifimr & 33a@t Js it 9

(a)  Hfsx 89 (b) feoga vq

(c) ITT&3IHA a9 (d) NS BT

What is MLL approach ?

() Maximum Level of Learning (b) Minimum Level of Learning

() Mlmmum Level of Listening (d) - Maximum Level of Listening
MLL ugs ot I

(@) riftdw T Bd3H Uug (b) s T o83 Uug

(c) BIs T f58x3n g (d) ©Bzs T GOy Yug

Learning, in which each individual contribute their particular expertise to a shared leaming
history, is often called as ]

(a) Co-operative learning (b) Inter-disciplinary learning

(¢) Distributed learning (d) Experiential learning

fHftmr A S8 WOa fen@st MUt feim Haes © G <3<t fitfinr &g uler 3,

YMIAY . IR Y

(a) Afgardt fitfanr (b) nizg-fomr g9 fHftmr

(c) fesrfvs fiftmr (d) yGor3Ha fifemr

What is the role of the teacher according to the Constructivist perspective ? -
(a) Role of an advisor (b) Role of classroom manager
(c) Roleof a friend (d) Role of a facilitator
JIETIHS MBS € nigATS niftermud & off ghiar 97

(a) fea Awroars <t ghiar (b) H3 ygux =t ke

(¢) fafizgdgiimr (d) fx AgEs o ¥ & ghiar
At which level of teaching an idea can be critically examined ?

(a) Knowledge Level . (b) Understanding Level

(c) Reflective Level (d) Application Level

niftmins 2 faA Uog 3 e feua o nideasHa HBaE J13T A Aoer 9
(a) famrs @ dog 3 (b) AHS T U9 ‘3

() PHiftm dag 3 (d) fegog e uug ‘3
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87.

89.

Self regulatory knowledge includes elements of .
(a) Formal Knowledge (b) Informal Knowledge

(c) Impressionistic Knowledge (d) All of the above
m-feafsfmms e IRAHE RIS ,
(a) SuT9x famms (b rEtueax famrs
(¢) ygreeret famis (@ B A9

Discussion in the class will be more effective if the teacher

(a) participate enthusiastically

(b) informed the students about the topic in advance

(c)  write the topic of the discussion on the blackboard

(d) does not introduce the topic to the students in advance

TH'3 g feurg-Teioa @09 YSeAE! Jodr Aag miftoue
@@ ©3F9ws I ded |

@) fefonradt § foi a9 ufost &R féer 3

() fegra-zeed @ fen & ada-89s 8 fwer 3

@ fefonradnt § folt 37 ufost 3 A adl Faeger I

Maxim, according to which the children should be taught about which the children already
have some knowledge is known as .

(a) proceeds from whole to part

(b) proceeds from particular to general

(c) proceeds from known to unknown

(d) proceeds from analysis to synthesis

forsd, ST

(a) AHD T 83 I U (b) feRm 3 AO9% ¥ TOT
© iz Ieufsfzdssusr () fordne 3 ARgRE 38 J0T

When a teacher uses gestures, or some other behavior to reinforce students’ learning,
he/she uses .

- (a) Positive verbal reinforcement, (b) Negative Non-verbal reinforcement

(c) Negative verbal reinforcement  (d) Positive Non-verbal reinforcement

7E witux fefonradnt 2 famis § B3RS 9s &8t Aast At g5 39 feworat & yuia
FTIIGI___ TYGAFT I | :

(a) USSHE FEfed @3AW () fae=a d9 rafex 8@3Aa

() foeavm Frafea 839 (d) UeIH Ag-prafex GIATT .
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91.

92.

93.

94.

9s.

96.

GENERAL KNOWLEDGE / CURRENT AFFAIRS

Who is the current Governor of Reserve Bank of India ?

(a) ArunJaitley (b) Montek Singh Ahluwalia
(¢} Raghuram G. Rajan : (d) Pranab Mukharjee

g9t foride B o Fger aress a9

(a) nigE A | (b) He fiw nrogen
(©) JwIH . Iws (d) YBT HuIHt

Which of the following is not as essential qualification for contesting election of Lok
Sabha ?

(a) Citizenship of India (b) Soundness of mind
© Age of 25 years (d) Graduation

BIATT BT HI5 B Iot fefamit 9 ot gt v adt D

(a) 393 T SUfgasT (b) " forrar < widar
(c) 257 g (@) FAs3a

Sir C. V. Raman got Nobel Prize in which of the following field ?
(a) Physics (b) Medicine

(c) Chemistry (d) Peace

A9 A & m@ﬁﬁ%&wﬁ?ﬁa@aﬁﬁammmm;ﬂ
(a) 3f3x fefamrs (b) Tt

(c) TAfez fefomrs @ =t

Which of the following is not a natural calamity ?

(a) Earthquake (b) Nuclear accident
(¢) Tsunami (d) Flash floods

st ffanrt 9" faodt e aqeat ez &t 7

(@) FTS b)) 8t wes

() F&nt | (d) nEER IZ

Who was the first speaker of Lok Sabha ? :

(a) Hukam Singh . (b) B.R. Ambedkar
(c} G.V.Malvankar (d) Maulana Abul Katam
& A Ufge mile@ dz At 7

(a) o fAw (b) gt g, niseas
(¢ . < weeiag (@) H&S vEes a&H
How many bones are there in an Adults’ body ?

(a 205 (b) 204

(€} 206 d 207

fEa g 2 Adte T o It Joort a5

(8 205 ®) 204

() 206 ) 207
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97.

98,

100.

101.

102.

(a) H. N. Bahuguna (b) S.L.Bahuguna
(c) Kailash Satyarthi {(d) Rajindra Singh
‘TEING nie S 2393 fam § wrfear wrer 3 9

(a) Y. W&, FIIE (b)) MR, WIS, "YIE

(c) o HAfznrIet (@ ahtes ity

Web pages are written using

(@) HTTP (b} FIP

(¢} URL - (d) HTML

o v o8 7R 75 |

(a) HTTP 2 Yy&id| 5% (b) FTP T y&iar 5%

() URL ® yUial &% ~ (d) HTML ? yGdl &%

Which is the capital city of Arunachal Pradesh ?

(a) Guwabhati . (b) Itanagar

(c) Gangtok {(d) Manipur

gEes Yo @ ISt Bfgg & '

(@ o () Sewie

(c) dacx @) ¥

An organization’s introductory webpage is called its

(a) Portal : {b) Blog ;

(c) Homepage (d) Website

foR ArEr e »rdfsx UW ot qo@er 3 _

(a) UISH ‘ (b)) T

(© 9HUH (d) RuAdte

Who was the first person to go into space ? ,

(a) Yuri Gagarin (b) Lance Armstrong
- (¢} Neil Armstrong (d) Buzz Aldrin

&3 &g e o ufow feniast = At ‘ |

(a) <t IRt () EA MFIHAZTE
(¢) Bl HASIT - (d) =uwresfas

Who is the Finance Minister of Punjab ? '

(@) Anil Josh - (b) Arun Jaitley

(c) Parminder Smgh Dhindsa ~  (d) Bikramjit Singh Majithia

Ura e R st d= 9 7 o

(@) nifes At (b) wgEAsE

(© uahies fiw s @) Pz B d

Who is known as the ‘Waterman of India’?
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103. Who among the following has not won an individual Medal in Olympics ?

(a) Leander Paes (b) Saina Nehwal

(¢) K.D.Jadhav (d) Rajwardhan Singh
Jot fifan 249 fam 3 B8fux e fovatars 3var &dt frifer &
(a) HEFIUA (b FES AT

() 3.8 7w (@ Imeus fAu

104. The 2016 Olympics will be held in

(a), Beijing (b) Barcelona

(¢) Rio de Janeiro , (d) Athens

2016 Sfux st fog Jzainit

(2) e &g (b) ToEe &9

(c) T6-F-H3IE <5 (d) Zued &9
105. Indian Institute of Advanced Studies is located at :

(a) Shimla . (b) Dharamshala

(¢) Chandigarh ~ (d) Solan

fodtnis fERATz8e miz Asein At fE Atz 3

(@) T fem () TS fer

() dtorg = @) Fos fel
106. King Bindusara belonged to which Indian Dynasty ?

(a)  Gupta 7 - (b) Maurya

(¢) Magadha (d) Pandaya

g fife AT far grast wae &% AEU3 HT 7

(@ I3 (b) HIT

(¢) WU (d) uBsT

107. Which is the largest shipbuilding unit in India ?

(a) Cochin Shipyard (b) Hindustan Shipyard
(¢) Goa Shipyard . (d) Garden Reach Shipyard
mﬁam&eﬁmw@sﬁm?éﬁmmﬁ |
(a) o fumEs )y ferzs fimos
(c) I fruemas | (d) 7955 I9 fwss
~ 108. Which is the first talkie film in India ?

' (a) Alam Ara _ (b) Sant Tukaram
(¢) Raja Harishchandra (d) Pundalik
Fa3 g ufoet 2wt fem faaft T 7
(@) WEH (b) RI ITH

(c) JIwr JotHYed @ e
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109.

110.

111.

112.

113.

114.

(@) 14" () 16"
© 15" @ 13"
e it gas e yus H3dt
(a) 142 (b 163
© 153 N
‘National Constitution Day’ is on
(a) 26" January (b) 2™ October
(c) 14" April (d) 26" November
THeI Afeus feer o o 9 '
{(a) 26 Ao<dt é (b) 2 »IIHT ;5
() 14 »B & (d 26 s<¥93
Which of the following is not a Union Territory ?
(a) Lakshadweep _ (b) Puducherry
(c) Sikkim (d) Delht
It fofant f55 forom g et A yWR AT 3 ¢
(a) FIES () usTdt
() frfon @ fe&t
Which city is famous for Brahma Temple ?
(2 Puri (b) Kashi
(c). Pushkar (d) Ujjain
ooz vfag gon Afes @sé’r HAgS 9 ¢
@ w3 (b) T
(© Yred @ 8ns
The longest wall in India expands over 38.5 km. It was built by
(a) Rana Kumbha (b} Sher Shah Suri -
(c) Rana Sangha {(d) TipuSultan .
go3fo s I ddtdlegacuanSa s gt difere feane
agerfenr fomr A |
(@ FTIT (b) A9 T ES
© T& A @ 2y EEEs
The first train in India ran between . :
(2) Mumbai and Pune (b) Kolkata and Siliguri
()’ Mumbai and Thane - (d) Kolkata and Sealdah
g93 &9 ufost 35 fegag It /Y ,
(8 NHEetm3 ud (b) &Iz n3 st
) ﬁaér»r%er% ~ (d) .. IBA3T miB RS

Narendra Modi is India’s 'Prime Minister.
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115.

116.

117.

118.

119.

120.

What does GM in GM crops stand for ?

(a) Genetically modified (b) Globally marketed-
() Genetically modernized (d) Globally modernised
GM @R% ffg GM T 3 9
(a) wigeiha ARG ®) feme-fortm sdtias
(c) wigefid nrafafds @) feme-fonmum nmafsfas
Which of the following is the biggest fresh water lake in India ?
(a) Loktak Lake (b) Dallake
(¢) Sukhna Lake (d) Wullar Lake
It fofon f5 roFt s o m T s uA S Sisd
(a) B34 5B . ) 35§
(€) B EE @ FHIES
Where in India is the Equitorial Satellite Launch station located ?
(a) Sriharikota (b) Thumba
(¢) Pokhran (d) Hassan
g9z ¥y G3feafls Rwdie oo news fHa Afe= 3
@ wodtae ® g
() TS d) IS
When is the earth farthest from the sun every year ?
(8 4% July (b) 21% March
(¢) 22" December (@ 3" January
U9t 99 B HoA 5% A8 3 g ax get 4 7
(a) 47t (b) 21 HSE
(0) 22 feriEs @ 3w
Dandiya is a popular dance of
(a) Maharashtra (b) Gujarat
(©) Rajasthan | (d) Madhya Pradesh
- SiEnr {8 T HEgE 59 ' '
(@) HJITRT T (b) I3 T
(c) THAGS T (d) HOYRRT
The Rath Yatra at Puri is celebrated in honour of which Hindu deity ?
(a) Jagannath (b) Siddhi Vinayak -
(¢) Venkateswara (d) Mahavir :
Yt fed 99 w3 fam fiig 3oz & Aevs RO Heret At 9
(a) 795" - (b) - fid fest
() YaFT @ W
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121.

122.

123.

MENTAL APTITUDE

IfA=5,B=6,C=7,D =8 and so on, what do the following number stand for ?
17,19,20,9, 8
(8) MUTED ' (b) NOTED

(6) MOPED | @ NUKED

ATA=5B=6C=7,D=8 m3 A 3T v I s R iz w ot 32 D

17,19, 20,9, 8
() MUTED () NOTED

() MOPED . (d) NUKED -
K 11 J
T 20% R+
10 10
® 18 ®) 19
11 11
© 19 | - (D T3
YFISTag € AETs 3 &t mirear
K. 1 J
T 20" R
10 | 10
@ T3 ® 1o
11 11
© T | @D 13

Find the wrong number in the following series.
52, 51, 48, 43, 34, 27, 16 |

(@ 27 (b) 43
(c) 34 (d 48
It &t T I53 nid BT 52, 51, 48, 43, 34, 27, 16
@@ 27 - () 43
(c) 34 _ (d) 48
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124. If the angles of a triangle a°, b° and 77° are in arithmetic progression, what is the value

of b ?

(@) 60° (b). 67°

(© 70° @ 57

fara it fodls 8 & a°, b° w3 77° via aifes & R 05, b o HB ot J
@ 60° | (b) 67°

) 70° @ s7°

125. LJH: KKI:: CIA: _?
(@) CBC ®) BIB
() DBB @ BBC
YAsfos § AES 3 &ff niear ¢ |
LJH: KKI :: CIA: ? |
(@ CBC (b) BIB
(¢) DBB ‘ (d) BBC

126. Which of the following is different from others ?

(@ DCBA (b) LKJI
() MNOP _ (d) HGFE
(a) DCBA (b) LKJI
() MNOP (d) -HGFE

127. If “ CARPET” is coded as “TCEAPR”, what will be the code for “NATIONAL” ?
() NLATNOLI (b) LNAANTOI
() LANOITAN (d) - LNOINTAA
359 “CARPET” § “TCEAPR” &8 37 Afg 3, 3t “NATIONAL” & 38 =4
(a) NLATNOLI (b)) LNAANTOI
(¢) LANOITAN (d) LNOINTAA
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'128. The time of Saurabh’s watch is half past nine, If the hour hand points towards east, to
which direction would the minute hand point ?
(8) East (b) North
{c) West | (d) South
Fge & uet = AWt AR & 9 1 Hem uifenrt Tt gt yew ¥ femre et O 37 filet e
gEt far forr 3% ferrar Faatt ¢
(a3 Y= (b) 839

(%]

(c) UsH @ =

129. In arow of children Sohan is 9" from the left and Mohan is 13" from the right. When they
exchange their positions, Sohan becores 17" from the left. What is the new position of

- Mohan ? _
(@) 21% | () 18"
(¢ 27 @ 17*

Hfonit <t f8x 3379 &3, ﬁmﬁuﬁ?ﬁ&a%%m@ﬁmﬁﬁuﬁ?é@&a‘%
1 7 &R niuEhnt At & nioer-gedt F9R T8, maﬁurﬁafﬂsm%m%w
A 31 How oF st st &t ¥ 2

(a) 21%”#7 b)) 183

() 278t @ 17

130. A car takes 6 hours to cover a journey at a speed 45 km/h. At what speed must it travel in
order to complete the journey in 5 hours ?

® S4kmh () 52kmh
(c) 60 km/h ~ (d) S0km/h
ﬁam4smﬁaﬁéﬁam§mmw6@&ﬁalfeﬂmasmﬁg
uaraamsérf‘sn?sﬁ?ﬁaﬁr ‘3 TBE YT
() 54 km/h () S2kmh
© 60kmh | «) SOkmmh
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131.

132.

133.

Which of the following indicates the best relation between Judges, Thieves and Criminals ?

(a) O@ | ) @O
© | @

o (O » (0o
© | @

Which of the alternatives replaces the question mark ?
Violet-Yellow, Blue-Red, Indigo _?

(a) Green . (b) Yellow
(c) Orange (d) White -
foram feamu yrs fig & mesyast age 3

Yot - i, A - ww, B8 - 2

(@ I (b) e
(9 andt d) mRE

Which of the following is similar to “3, 7,117 ?

@ 2,921 (b) 4,6,14
(© 2,17,23 @ 4,916
- ot fifnit fed faa=t 3,7, 11" AHGU T

(a) 2,9,21 () 4,6,14
(© 2,17,23 @ 4,916
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134,

135,

136.

‘If “40” represents BAI, what number will represent APE ?

(@ 8 (b) 40
© 70 - (d 50

Heg “40” BAI§ TaRger 3, foaa™ nig APE § gaA=arm -
(a 80 (b) 40

© 70 - - @ 50

Rohan slept at 6.45 pm and wakes up at 12:00 noon, how many hours did he sleep ?
(@) 5 hours 15 minutes | b) o6 hours 15 minutes
() 6 hours 45 minutes (d) 17 hours 15 minutes

éaaﬁ:45w§ﬂ?m§§uﬁ312:obeﬁ8wéleaﬁ%u?éﬁ3w
(a) suR1sfe | () 642 15

(¢) 6uik45fiz @ 179215

In a group, number of girls wés more than the number 6f boys. If ¥ 15 a‘re givén to each
boy an‘dﬂE 30 to each girl and total of T 465 is distributed, what is the total number of girls
an;iboysinthegroup? o

@ 15 ®) 18

(¢ 16 | | (d 19

o Py g ot < ifnr safenit 9 e 3 oo At 1 St 99 R & 15
U 2 o m3 03 BT § 30 TR RS @ i3 IBAGS U S AT | My S
it w3 wafeont S o Rt Rt D |

(@ 15 ®) 18

© 16 - @ 19
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137.

138.

139.

IfP+Q meansPris the father of Q, P — Q means P is the brother of Q, P + Q means P is
the mother of Q and P x Q means P is the sister of Q. Which of the following does not

" show the relation “A is the aunt of B” ?

(a AxC-D+B (b) AxC+D+B

(c) AxC-D+B (d) AXC+D—B_

A59 P+HQE nigE I, P,QT T Y, P-QE n@E I P,QT IT I, P+ QE nE I P, Q
S IR Px Qe wEE Y P.Q B Y | Iot R 2T fxar few il et
&t saer “A, B & niiz 37 |

(@ AxC-D+B (b) AxC+D+B

() AxC-D+B @ A><C+D-—B..

A is the father of C and D is son of B. E is the brother of A. If C is the sister of D, how is B
related to E ?

(a) Brother-in-law - (b) Husband

(c) Sister-in-law (d) Daughter

A cT g I3 D,B?éer%n E,ATET J | AZ9 C, D& 32 3,37 B, & fo@
AUz 3 | | |

(@ gEfesw ) U
) fTmeafese | (@ yst
Which number comes next in therseries 23,29,31,37,39,45, 2 .
(a) 46 : (b) 49
(c) 47 d 53

&t g nigwr vig faga w@er 3 23, 29, 31,37, 39,45, 2

(a) 46 - (b 49
() 47 d 53
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140. Which number replaces the Question mark(?) in the series 15, 22, 29, 36, 2, 50, 57 :

(a) 43 (b) 40

(c) 42 (d) 44
whﬁ%m%mww@?% 15,22, 29, 36, 7, 50, 57
(a) 43 . (b) 40

(c) 42 - @ 44

141. What comes next in the series ?
BFI, IMP, PTW, 27

(a) XBF ' (b) WAD
() XAE (d) 'WBE
ST 39 nigl ot n@er 9

BFI, IMP, PTW,?

(a) XBF (b) WAD
() XAE - - (d) WBE

142, Which figure comes next in following question ?

SRS
> S

wméﬂwémﬁ%m@w

o
3@: =
O <>
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143.

144.

Which figure comes next in following question ?

T[] -

(a) _ | ® R
() _;_ @ l7\
yas s T AEs 3 fagsr f939 micar

]V
@ Zl .(b) R
© Z | ‘ (d). ‘7\

Here are some words translated from an artificial language.

~ grana milka means big tree

pini milka means little tree

milka hoon means tree house
Which of the following word could mean ‘big house’ ?
(a) grana hoon (b) milka grana
(¢) pini hoon - (d) pini grana
o gz maer o ¥ geedt s 3 nigeaisr famr 3

grana milka T »Jg J ¥JT TIHI

pini milka € dd J g TS

milka hoon T I8 J T3 ug

‘ ﬁﬁﬁ%%ﬁﬁﬂ?m‘é@m’ﬁ.wa |

(a) grana hoon '(b) milka grana
(¢) pini hoon (d) ~ pini grana
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145,

146.

147.

If daftafoni means advisement
imodafta means misadvise
imolokhi mieans misconduct

which word could mean statement ?

(a) Kratafoni - (b) Lokhidafta
(¢} Kratadafta (d) Lokhimo
v daftafoni T »9E %r advisement |
imodafta €7 »98 J misadvise
imolokhi & »/@& ¥ misconduct

{3 AgT © g statement T REET J |

(a) Kratafoni | | (b) Lokhidafta

(¢) Kratadafta | (@) Lokhimo

The mean (average) of five numbers is 100. If one number, 80 is removed from the list,
what will be the mean of remaining numbers ?

(@ 110 ; ® 95

() 105 d 9

X vt S S 100 | Hod f nid, 80 § met R ger fegr Afer 3 3 grelt wiat <t
Az ot Jat

@ 110 (b) 95
(¢) 105 (d) 90
If in a tournament, every player plays with each other player and the total number of
matches played is 36. How many players participated in the tournament ?
@ 9 - by 12
() 18 d 6

%azmﬁzﬁgﬁaamﬁ@a?m%a%afwﬁmﬂw%m%m%ﬂgaéa%
T5 | Rﬁ?ﬁeaﬁﬁ%f‘dﬁﬂw%ﬁww

@ 9 (b) 12
(c) 18 | . d 6
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148.

149.

150.

If a means minus(-), b means multiply(x), c means division(+) and d means plus(+), what

is the value of [90d 10230¢c10b20]7

(@ 27 (b) 20

() 40 ( 140
ﬁm@wm%w@(—),a@m%w(x),awm%m(+)m%€@maaﬁ

T (+) [90d 10 230 ¢ 10 b 20) & W& o I?

| (a) 27 - (b). 20

(c) 40 (@) 140

Six persons A, B, C, D, E, F are standing in a circle. B is standing between F and C, A is
between E and D, F is to the left of D. Who is between A and F ?

(@ B by D

© C d E

592 A.B,C, D, E, »3 F s 93 %9 43 75| BAGIF »i3 C fewad v 3; A, EnZ D
fega@ J; F,D 9 I | A3 F fegars 3z 3 |

@ B ®) D

(© C @ E

If the side of a square is increased by 20%, its area will increase by

(@ 20% (b) 40%

(c) 80% : (d) None of the above

o =oa @ e g § 20% <o ff favr 3, fermer 839%s w0 ARAT

(a) 20% (b) 40%
© 80% (@) Budas =t &
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